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QUESTION 1

Which basic report output styles are produced by the reporting capabilities available with Rational Team Concert?
A. tables, models, and icons

B. diagrams, sketches, and free-form text

C. graphs, charts, and documents

D. boiler-plates, pivot tables, and references

Correct Answer: C

QUESTION 2

What are two purposes of work item categories? (Choose two.)
A. to determine which team member owns the work item

B. to determine which team owns the work item

C. to classify a work item according to functional area or team
D. to define the priority and the completion date of the work item

Correct Answer: BC

QUESTION 3

What are three ways builds are scheduled and initiated? (Choose three.)
A. at a continuous interval in minutes on selected days

B. at a particular time for defined days

C. by a user with appropriate permissions

D. automatically after a user saves a change

E. By adding the keyword "@build" in a work item comment

Correct Answer: ABC

QUESTION 4
In a work item comment, what is happening when "@" followed by a user ID (for example, "@clara") is added?

A. The addressee receives a notification that she was mentioned in the comment.
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B. The work item is automatically assigned to the addressee.
C. Areview is created, and the addressee is added as a reviewer.
D. The comment is only visible to the addressee that is mentioned.

Correct Answer: A

QUESTION 5

In an iteration plan, which value is represented by the length of the progress bar
A. The amount of work estimated

B. The amount of work completed

C. The amount of work on schedule

D. The amount of active work

Correct Answer: B
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